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USN           

Internal Assesment Test  I – Sept. 2019 

 Sub: COMPUTER ORGANIZATION Sub Code: 18CS34 Branch: CSE 

Date: 7 / 09 / 2019 Duration: 90 mins Max Marks:  50 Sem / Sec: 3 (A,B,C) OBE 

Answer FIVE FULL questions selecting AT LEAST ONE question FROM EACH PART MARKS CO RBT 

 
1 (a) 

PART A 

List the steps needed to execute the machine instruction 

ADD A, LOCA, R4 

in terms of transfers between the components and some simple control 

commands. Assume that the instruction itself is stored in the memory at 

location LOC and that this address is initially in register PC. 

 

 

 
 

 

 

 
NOTE: If a source of destination is a register (R), MAR, MDR steps are not 

required as registers are directly accessible to ALU as both reside inside 

processor. MAR and MDR are required only if we want to access main memory 

for read or write operation. 
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OR 

 
2 (a) Assume a program with 1000 instructions. 25% of the instructions take 4 

clock cycles, 40% of the instructions take 5 clock cycles, and the remaining 

instructions take 3 clock cycles to execute respectively. Calculate the time of 

execution assuming basic performance equation if the clock rate of the 

machine is 1GHz.    

 

P=N*S/R 

 

Ans=4.05 micro sec 

[5] CO1 L3 

   (b)  Define Exception. Explain any 2 Kinds of Exception. 

 

 

[5] CO2 L2 



Page 3 of 26 

 

___________________________________________________  

 
3 (a) 

PART B 

Explain basic instruction types with example.  

Q4 Instruction types (one-address, two-address, three-address 

instructions) 

 
 

 

 

 
 
 

 

 

 

 

[6] 

 

 

CO1 

 

L2 

   (b) Three devices, A, B, and C, are connected to the bus of a computer. I/O 

transfers for all three devices use interrupt control. Interrupt nesting for 

devices A and B is not allowed, but interrupt requests from C may be accepted 

while either A or B is being serviced. Suggest different ways in which this can 

be accomplished in each of the following cases: 

 (a) The computer has one interrupt-request line. 

[4] CO2 L3 
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 (b) Two interrupt-request lines, INTR1 and INTR2, are available, with INTR1 

having higher priority.  

Specify when and how interrupts are enabled and disabled in each case. 

 
OR 

 
4 (a) Explain addressing modes with example of each mode. 

 

 

 

 

 

 

 

[10] CO1 L2 
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____________________________________________________________________________________ 

 
5 (a) 
   

PART C 

Explain the operation of stack with example. 

 

 

 

 

[8] 

      [2] 
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Differentiate between subroutine and Interrupt service Routine                                                                                                   
OR 
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6 (a) Define Subroutine. Explain the concept of Subroutine Nesting with example. 

 

 

[7] CO2 L1,L2 
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  (b) Explain any three assembler directives with example. 

 
[3] CO1 L2 
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_______________________________________________________________ 
 
7 (a) 

PART D 

With a neat diagram, explain registers in DMA interface. Also, explain bus 

arbitration approaches in DMA. 

, DMA controller registers with bus arbitration? 

 

 

 

[4+6] 
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OR 

 
8 (a) Explain various methods for handling interrupts from multiple devices with 

neat diagram.            

 

Handling multiple devices/interrupts (polling, vectored 

interrupts, interrupt nesting, daisy chaining) 

 

[10] 

 

CO2 L2 
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_______________________________________________________________ 
 

 9 (a) 

     

PART E 
Write about shift and rotate instruction with neat diagram and example of each.  

 

[6] 

      [4] 
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Write a assembly program to read a character and display it.      
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OR 

 
10 (a) What is an Interrupt? With an example, illustrate the concept of interrupt. 

 

 

[10] CO2 L2 
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